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TEST CODE

2007 PART-A : PHYSICS

1. Ify=a-b, the maximum percentage error in the 1. I@y=a-bgdly d a9 A 1frawa ufcrerd Ffe il —

measurement of y will be :

CLASS - XI

ZONE - 11

(1) (%+%)x100% (1) (i—a+A—;jXIOO%
(%_%JAOO% ©) (A_a—%jx 100%

3) (aA_ab + aA_bbj x100% 3) [aA_ab + aA_bbj x100%

@ (aA_ab - aA_bbj x100% ) (aA_ab - aA_bbj x100%

2. The percentage error in determination of time 2. AXd dlmwiﬁalqnwld

{ 2NN
period of a pendulum T=27t\/; T=2n gﬁﬂﬁﬂﬁ@%ﬁﬂﬁﬁﬂﬂﬁéﬁ%giﬁmﬁﬁ

where ( and g are measured with £1% and £2%

AT H FfS B +1% TAT 2% 8 -

errors.
(1) +1.3% (2) +1.5% (1) +1.3% (2) +1.5%
(3) +1.7% (4) +2.3% (3) +1.7% (4) £2.3%
If force F, length L and time T are taken as IS 9 F, ofg L o0 W90 T &l 4o 9156 & ©U § Ugad
fundamental units, the dimensional formula for AT ST A1 ST Eﬂﬁ“ﬂﬂﬁ?@m:
mass will be :
(1) [FL7T?] (@) [FLT ] (1) [FL7T?] () [FLT?]
(3) [FLT] @) [FL17] () [FLT] (@) [FL°T? ]
4. Write the dimensions of a x b in the relation b x2
b x? 4. ¥4y E= -~ Ha x b & faarg falay, & E oo, x
E= v where E is energy, x is the ; Qo t .
displacement and t is time :
(1) MLT (2) M'L?T! (1) ML2T (2) M'L?T!
(3) ML?T (4) MLT 2 (3) ML?T (4) MLT?

Space for rough work

1
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Dimensionally wavelength is equivalent to, where 5.

E = intensity of electric field, C = capacitance
L = inductance, B = intensity of magnetic field

EJLC E
(1) B 2 Biic

BVLC B
(3) & 4 E/ic

Free fall of an object in vacuum is a case of motion
with

(1) uniform velocity (2) uniform acceleration
(3) variable acceleration (4) uniform speed

When a ball is thrown up vertically with velocity v,
it reaches a maximum height of 'h'. If one wishes
to triple the maximum height then the ball should

be thrown with velocity:

(1) V3v, (2) 3v,
(3) 9v, (4) %VO

A particle is moving along path ABCD as shown in
the figure. The magnitude of displacement from
position A to D is.

i.D
5
4%7"
f
1m
ARSmoiB
(1) 10m (2) sﬁm
(3)9m (4) 7ﬁm

TEST CODE
2007

i wu 9 dReed fods w914 8+l Siel E = fagd &3 @
e, C = g1Rd, L = IRebca, B = g g &3 dl daai @ :

EVLC E
1) —5 (2 5yIc
BVLC B_
B —¢ *4 BJLC
fArafd 4 s IR @ v axg @ fa 2 :
(1) QepeaT o (2) THEHT @RI
(3) TR @RI (4) VHEH AT

T4 U 1@ Dl v, I H SHEATER HUR B 3R Bl & 7d 37D
EIRT U Aeeherd S2ms h & | AfE 3 A T[T SeTs T St
iR HUR BT 3R BB 81 79 1 DI f6d 97 F BT B

(1) J3v, (2) 3v,
) 9v, ) 2o

RETTHR Teb o1 42l ABCD & Srfarel i1 8 &l 01 &1
Rerfdr A 9 Rerfd D T& gt faverd= &1 ke g:—

AR3mB
(1) 10m (2) 5/2m
(3) 9 m 4) 72m

Space for rough work

2
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9. A nparticle starts from rest. Its acceleration (a) versus 9.

time (t) is as shown in the figure. The maximum

speed of the particle will be —

a

CLASS - XI

ZONE - 11

U P07 fARTH 3ra=eT 3 Ty URY HRAT & | $HBT @RV () T
Y (t) S AT 9 3T T | BT o Af¥HaA et o1 gRHAToT
BT —

10 m/s’ 10 m/s’
TS TS
(1) 110 m/s (2) S5 m/s (1) 110 m/s (2) 35 m/s
(3) 550 m/s (4) 660 m/s (3) 550 m/s (4) 660 m/s
10. Figure shows the displacement of a particle going 10. 2 x 3181 & argfa el v &01 & fReU= &1 997 &
along x-axis as on function of time. The acceleration Bl & W H ST & | HUT HT @R0T fhd &5 | = 8IT:
of the particle is zero in the region:
A A
-+ -
[ c
gl B gl B
S E o) E
L o
O =1
(%) (%)
S S
D . A D
time time
a. AB b. BC c. CD a. AB b. BC c. CD d. DE
(1) a,b (2) a,c (1) a,b (2) a,c
(3) b,d (4) c,d (3) b,d (4) c,d
Space for rough work
y
(clch /
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11. A body starts falling from height 'h' and travels 11.

12.

Tecno'23
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distance h/2 during last second of motion then
time of journey is:

(1) V2-1 (2) 2+42
3) V2 +3 4 J3+2

A ball is dropped vertically from a height d above
ground. It hits ground & bounces up vertically to
a height d/2. Neglecting subsequent motion & air
resistance, its velocity v varies with height h above
ground as —

7 Ve

(1) (2)

V4 VA

d _ sh
3) (4) E ;

12.

TEST CODE
2007

TP %] 'h' $aTs A FIRAT U™ =l B a1 a1 & S|
HHTE H h/2 T T B B TG AT BT F7I BIT:

(1) V2-1 () 2+2
3) V2 +3 4 J3+2

Te g gl a1 9 FHeafer d Farg | ARTE 72 2 | o W
R & 918 I8 Y d/2 HA1E W Uga 8| a1g BT 97 q
UfRIY 07 A Y $9 9N v &l gedl Idl 9 18 h &
Arvet gRac BrT—

V4

(1) (2)

VA VA

(3) (4)

Space for rough work

4
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13. The position of an object moving along x-axis 13. x-31& & 31 Y B W& T a%] dl RAfY x = a + bt?

14.

8.5 m and
b =2.5m s?and t is measured in seconds. The

is given by x = a + bt?>, where a =
velocity of the object att = 2 s is

(1) 5m s (2) 10m s™!
(3)15ms™*! (4)20m s!
The following fig. represents a painter in a swing
by the side of a building. When the painter pulls
the string then the force applied on the surface is
450 N, whereas the weight of painter is 1000 N. If
the weight of the swing is 250 N then the
acceleration produced in the swing will be :

14.

CLASS - XI

ZONE - 11

ERIG TS S, Tela=85malb=25ms28dt
AP H A TN FAT L, AN t =2 s WA BT AT

(1) 5ms! (2) 10m s’

(3) 15m s} 4)20 m s

1 ot 4 g fafeet & WeR s 3ol H Us Uex uelRid
T | 919 Uex IR & Eiadi B 1 3ol & B IR ARINT 9
450 N Safh U B4R, 1000 N g IfS 3t HT9R 250 N
BN A1 gt H I @R BT HH BT

(1) 4 m/s? (2) 2 m/s? (1) 4 m/s? (2) 2 m/s?
(3) 5 m/s? (4) 6 m/s? (3) 5 m/s? (4) 6 m/s”
Space for rough work
5
g 1% /

SIKAR
N2t

*ﬂ
**GHEerEt "’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500 A\




Y. CcLC

¥

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

15. A projectile is thrown at an angle of 45° to the 15

16.

17.

horizontal has a range of 19.6 m. Its velocity at the
highest point is (g=10m/s?)

(1) 19.6 m/s (2) Sm/s

(3) 10 m/s (4) zero

A player kicks a ball at a speed of 20 m s! so that
its horizontal range is maximum. Another player
24 m away in the direction of kick starts running
in the same direction at the same instant of hit. If
he has to catch the ball just before it reaches the
ground, he should run with a velocity equal to
(Take g = 10 m s7?)

(1) 2v2 m s (2) 4v2 m s

(3) 642 m s 4) 10v2 m s}

An object is thrown horizontally from a point 'A'from
a tower and hits the ground 3s later at 'B'. The line
from 'A' to 'B' makes an angle of 30° with the
horizontal. The intial velocity of the object is :

(8= 10 m/s?)

A

| 03

77777777777777777777 B

(1) 15/3m/s
(3) 10/3m/s

(2) 15 m/s
(4) 253 m/s

16.

17.

TEST CODE
2007

. TP YT Bl SIS | 45° BT WR BT ST & T wrd
19.6 m 2| U&I™ & Izaa 475 U $HUT BT 97 8IT—
(g=10m/s?)

(1) 19.6 m/s (2) 5m/s

(3) 10 m/s @) =

T RISTE! U Ig BT 20 m s @ T1A I 59 TR ford
ARGl & b 3T R 1fdedd 81 SR | fhep &) faen 4 24
m §X U g% Raare] S &0 R | faen 4§ Sre g%
IR B | AR I8 g B GRIAS W U F R Uge g Bl
&g oIdl B, A1 I b 971 9 e @2y -

(g= 10ms‘2ﬁ)

(1) 2v2 m s 2) 442 m s}

(3) 6+2 m s (4) 10v2 m s

Tep g 2faR UR e fawg A" 4 aiferst farem 4 weifie el Siredt
2 U1 U8 3s U¥EN fag 'B' IR eRe 4 S’ & |'A' 4 'B'
B @1 &S B A1 30° BT HIVT G & | %G DT RSB
T B

(g=10m/s?)
A 7>V
2o
1 30°0-)
77777777777777777777 B
(1) 15/3m/s (2) 15m/s

(3) 1043m/s (4) 2543 m/s

Space for rough work

6
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18. A particle of mass m moving with constant velocity 18.

19.

20.

¥ on a smooth horizontal surface. A constant force
F starts acting on particle perpendicular to velocity
v. Radius of curvature just after force F start acting
is :

2 2
mv mv
(1) (2)
F Fcos6
2
(3) mv (4) None
Fsin6

A particle is thrown with velocity u making an angle
6 with the vertical. It just crosses the top of two
poles each of height h after 1s and 3s respectively.
The maximum height of projectile is

(1) 9.8 m
(3) 39.2m

(2) 19.6 m
(4) 4.9 m

and m, = 1 kg are in contact with a frictionless
table. A horizontal force F = 3 N is applied to mass
m,, the contact force between m, and m, will be :

m,=2kg
m,=1k
E} - F'2 g
(1) 1IN (2) 2N
(3) 3N (4) zero

19.

In the following figure, two blocks on m; = 2 kg 20.

CLASS - XI

ZONE - 11

YOS SfIS 98 IR m SIHH &1 U dol (ad 97 ¢ 4
TR A2 | SH P R YD A I fp v & o] o1
U 11 8 | F 9 & o & Rl UgaT] aghall 3roat g :

mv? mv?
(1) F @) Fcos6
2
mv .
®) Targ (4) 3¢ 7

Teh Y I F O DI IR u 971 9 Y&Ifd frar rare 198 h
$ATS B Q1 T BT 3P 1 s 9 3s T YR Bl § Al 59 B
ERT T SffIdpaH Sars grfl —

(1) 9.8 m (2) 19.6 m

(3) 39.2m (4) 4.9 m

Teh gYvT IR SqA TR & Sl U AR B TSP W G § YD
e R F = 3 <YeA (RATIER) 96 BRI Bl & BIC @ld
m, §R1 §S &ifdh m, IR 7 aTell 9 B |

m,=2kg "

Elw ng_ g
(1) 1IN (2) 2N
(3) 3N (4) =

AR

WE C,
SO

HcLch

SIKAR
N2t

Space for rough work

7
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21. Two bodies of 5kg and 4kg are tied to a string as 21.

NATIONAL OLYMPIAD

shown in fig. If the table and pulley both are
smooth, acceleration of Skg body will be equal to :

4kg T
[
T
Skg
(1) g (2) g/4
(3) 4g/9 (4) 5g/9

22. Three identical bodies A, B and C each of mass 22.
2kg. are tied to a string passing over a smooth
pulley as shown in the figure. The tension in the

string connecting B to C will be :

(1) 13.33 N
(3)3.3N

(2) 0.13 N
(4) zero

TEST CODE
2007

Q1 I TS GHE HH: Skg AT 4kg B 5 & orgaR
WRER U SR ¥ Fiefl 1S © | AR A 1 9 gd Rl &A1
Ty 2T 2 1 Skg G ATl g% BT @ROT T

4kg T
[
T
Skg
(1) g (2) g/4
(3) 4g/9 (4) 5g/9

U9 99 ¥R A, B @21 C 5199 9’i® 2kg S0@E @ g,
ReR TivRfRd ol iR 9 A1l S ¥ 2 & IJ9R 99 gy
2B 1 C Bl e arell S § T-1d 81

(1) 13.33 N
(3)3.3N

(2) 0.13 N
(4) @

Space for rough work

8
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23. A smooth wedge is kept in a chamber. Chamber is 23. wﬁmam\waﬁaﬁwgsn% | el qﬁﬂﬂ%iﬁﬂﬁiﬁ?ﬁ

suspended close to earth surface. A block B is kept
on top of wedge. It takes time T to slip over length
of wedge. If block is kept on top of wedge &
suddenly string breaks then at this time block :
(1) will take more time than T to slip over wedge
(2) will take less than T to slip over wedge

(3) will remain on top of wedge

(4) will fall away from wedge

. A disc of mass 10 gm. is kept floating horizontally
by throwing 10 marbles/sec against it from below.
If the mass of each marble is 5 gm. Calculate the
velocity with which the marbles are striking the
disc. Assume that the marbles strike the disc
normally and rebound downward with the same
speed :

(1) 9.8 m/sec

(2) 98 m/sec

(3) 0.98 m/sec

(4) 0.098 m/sec

ACHI gaN & | U il B il fob It & 3 Ry gan € | U8
IS B TS O e § T 9 o € | Afe &l 9 @
Y OR I 3T © iR Daf 1 IR T TR A1 59 T Al

(1) 99 R fode™ @ fog T 9 o1fde T8y o

(2) 99 R e @ oY T | &F 97 1M

(3) a1 & MY WR &

(4) a1 ¥ g% R S

10 gm S @I Fahdl ga1 H i S 81 2 | Fifh g9 D

. I 10 FH/TPTS BD ol W8 2 | AT YD Hbx Pl

ST 5 gm & A1 98 I S DI | FIas) B Faell |
AN B B | IE A1 T & fb B gl & o gdq il 8
TAT FH @l | qTIT 1 317 1) # |

(1) 9.8 m/sec
(2) 98 m/sec

(3) 0.98 m/sec
(4) 0.098 m/sec

Space for rough work

9

.
*

WE C,
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25. Two monkey A & B are of masses M and m 25. I d<3A T B e @M He: M dlTm (M > m) 2 |
respectively (M > m). They are holding a rope which Ueh Y1 1 U 8Y © Gl 1 Yeb ReR fRrepeil foreeil | el
is passing through a stationary smooth pulley. They 2|9 T R FeAd 2 d1fds B &1 @R $HUR Bl 3R A & 11 Bl
moves on rope such that upward acceleration of B 3R RO A QI B ORI AT SIRY ¥ TG 817 |
becomes double of downward acceleration of A then
tension in the rope will be :

4Mmg 4Mmg
(1) 2M+m (1) 2M+m
3Mmg 3Mmg
@ M+ 2m) @ M+2m)
3Mmg 3Mmg
3) 2(M +m) ) 2(M + m)
3Mmg 3Mmg
@) Mrm) @ ™rm)

Space for rough work

10
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26.

27.

28.

29.

In which pair, no. of molecules are same -

(1) 22 gm CO, and 72 gm N,

(2) 11 gm CO, and 28 gm N,

(3) 44 gm CO, and 7 gm N,

(4) 11 gm CO, and 7 gm N,

Cisplatin, an anticancer drug, has the molecular
formula Pt (NH,),Cl,. What is the mass (in gram) of

one molecule? (Atomic weights : Pt = 195,
H=1.0,N =14, Cl = 35.5)

(1) 4.98 x 1072} (2) 4.98 x 10722

(3) 6.55 x 10721 (4) 3.85 x 10722

How much volume of oxygen will be required for
complete combustion of 40 mL of acetylene ?
(All volumes are measured at STP)
(1) 80 mL (2) 100 mL
(3) 40 mL (4) 20 mL
Formation of ammonia is represented by the
equation
N, + 3H, —> 2NH,
If 100 cm® of N, gas at NTP is used, what is the
volume of NH, produced at NTP —
(1) 100 cm® (2) 200 cm®
(3) 400 cm* (4) 300 cm?

PART-B : CHEMISTRY

26

27

28.

29.

CLASS - XI

ZONE - 11

. @ @ S g arvgsit @l e JHE g 2
(1) 22 gm. CO, T 72 gm. N,
(2) 11 gm. CO, TT128 gm. Ny
(3) 44 gm. CO, TAT7 gm. Ny
(4) 11 gm. CO, TAT7 gm. Ny

. Rrawifes e $uar e gar & e sy Pt (NH,),Cl,
2 | U 37Y] BT SHH (IATH H) ET— (URATY] ¥R : Pt = 195,
H=1.0, N = 14, Cl = 35.5)

(1) 4.98 x 10721 (2) 4.98 x 10722

(3) 6.55 x 10721 (4) 3.85 x 10722

40 mL TIfeel & qul &8 & o faa smae O, i ?
Ifg Tt U=l B STP U= HUT 1T 8—

(1) 80 mL (2) 100 mL

(3) 40 mL (4) 20 mL

srafer femtor foesr arfdfepan g foran Sram &
N, + 3H, —> 2NH;

Ifd NTP &R 100 cm?® N, 3 SU191 # 31reh) & a7 ganaf fb

IR B foha=T SR uTed BT —
(1) 100 cm® (2) 200 cm®
(3) 400 cm? (4) 300 cm®

AR

WE C,
SO

HcLch

SIKAR
N2t

Space for rough work

1
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30. If a mixture containing 3 mole of hydrogen and 1 30.

31.

32.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

mole of nitrogen is converted completely into
ammonia, the ratio of intial and final volumes
under the same temperature and pressure would
be :

(1)3:1

3)2:1

For a reaction
aA+bB—— cC+dD
If initially %’ mole of ‘A’ are taken with ‘v’ mole of

2)1:3
4 1:2

‘B’, which of the following is correct.

(1) If a/b = y/x, then no reagent is left over
(2) If a/b > y/x, then ‘B’ is limiting reagent
(3) If a/b < x/y, then ‘B’ is limiting reagent
(4) If x/y > a/b, then ‘A’ is limiting reagent

Match the columns :
Column-A Column-B
(i) 88 g of CO, (a) 0.25 mol
(i) 6.022 x 10?3 (b)2 mol
molecules of H,O
(iii) 5.6 litres of O, at STP  (c) 1 mol
(iv) 96 g of O, (d)6.022 x 10
molecules
(v) 1 mol of any gas () 3 mol

(1) @) = (®) (i) = (c) (i) > (&) (iv) = (¢) (v) = (d)
(2) () = (c) (i) - (d) (iii) — (€) (iv) = (0) (v) = (a)
(3) () = (c) (i) — (b) (iii) — (d) (iv) = (&) (v) > (D)
(4) () = (d) (i) — (e) (iii) > (b) (iv) - (&) (v) > (D)

31.

32.

TEST CODE
2007

e vep fAsor fad 3 Hied gIggIo a2l 1 il A1ggiol &,
quTcrT ST 98 ST 2, T A 19 1R 816 IR YRS

31IR ifeRT JTIT 1 3UTd T BITI—

(1)3:1 2)1:3

@)2:1 @) 1:2
e srfaferar # —

aA + bB——> cC+dD
Ifg TR F %’ A A’ ATy At ‘B’ oy TR a1 e 2

(1) & a/b = y/x, T BIS fABHHS 9 TEI T
(2) I a/b > y/x, AB’ AHTHN AfTHHSD 2 |
(3) & a/b < x/y, A B’ AHHRI ATHHSD 2 |
(4) 3 x/y > a/b, A ‘A’ SHGR AfAHHD 2 |

1 BT e difvTu—
TH¥-A ¥ -B
(i) CO,® 88 g (a)0.25 mol
(ii) T & 6.022 x 10*237]  (b)2 mol
(i) STP TR O, & 5.6 &eX  (c) 1 mol
(iv) 96 g O, (d)6.022 x 10?3 377
(V)ﬁﬂﬁﬁ???mllﬁa (e) 3 mol

(1) @) = (®) (i) = (c) (iii) > (&) (iv) = (¢) (V) = (d)
(2) () = (c) (i) - (d) (iii) — (€) (iv) = (0) (v) = (a)
(3) () = (c) (i) — (b) (iii) — (d) (iv) = (&) (v) > (D)
(4) () > (d) (i) — (e) (iii) > (b) (iv) —> (&) (v) > (D)

Space for rough work

12

"

r
*‘grHTret "’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500 4\




TEST CODE
2007

33. If the value of Avogadro number is 6.023x10%mol” 33. afg raITEl F&a1 &1 919 6.023x10%mol ! & T

34.

35.

36.

! and the value of Boltzmann constant is 1.380x10~
2 JK!, then the number of significant digits in
the calculated value of the universal gas constant

is ?
(1) 2 (2) 4
(3) 8 4) 16

The mole fraction of a solute in a solution is 0.1. At
298K, molarity of this solution is the same as its
molality. Density of this solution at 298K is 2.0 g
cm 3. The ratio of the molecular weights of the

solute

— |, 1S
Mwsolvent j

(2) 3

“9

solute and solvent, (

(1) 4.5
(3) 18

The two electrons have the following sets of 35.

quantum numbers :

1 1
X:3,2,-2, +=:;Y:3,0,0, +§

(1) X and Y have same energy

(2) X and Y have unequal energy

(3) X and Y represent same electron
(4) None of the statement is correct
Any p-orbital can accomdate up to ?
(1) Four electrons

(2) Two electrons with parallel spin
(3) Six electrons

(4) Two electrons with opposite spin

34.

36.

CLASS - XI

ZONE - 11

oA ReRTH &1 A 1.380x1072% JK ! €, 79 uRaford
|rafd /9 ReRi® (universal gas constant) # ef®
31di (significant digits) & A& © :

(1) 2 (2) 4

(3) 8 (4) 16

U faerg &1 ve faeras § A 77 0.1 2| 298K W 49
faeTa™ &1 HeRdl (molarity) $H®! Hieterdl (molality) @
T 2 | 39 faerad @1 g9 298 K W 2.0 g cm™ ° B

facor qer faemad & SrpMRI &1 SruTd, (l\l\xﬂJ g7
solvent

(1) 4.5 (2) 3
(3) 18 4) 9
&l SelagIAI @1 T gaToeH Wl 9wy

1 1
X:3,2,-2, +=;Y:3,0,0, +§

(1) X TATY DI A ot

(2) X TATY DI ST Spoll

(3) X TATY T Soae I B UGRid o B |
(4) DS W HAT I TE B |

BIg ) p-DHeTdh TG Ahal & ?

(1) =R getag=

(2) |FHE THYT B QI SATZI

(3) & : FelazIT

(4) fauRa T%o & <1 gelag™

AR

HcLch

SIKAR
N2t

Space for rough work
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37. For which of the following electrons distributions 37.

in ground state, the pauli’s exclusion principle is

-
2s
-

2s

violated?

-
2s
-

2s 2p (4)
38.
in an atom that can have (n + () =
(1) 30 (2) 32
(3) 15 (4) Unpredictable
39.
associated wavelength is :
(1) 12.27 A (2) 1.227A
(3) 122.7 A (4) 0.285 A
40.
emits the same energy into two photons of
wavelength L, and A, respectively. The wavelength
A is related to A, and A, as:

o Mha potthy
Mo, ) @ =70,
Ak A2
7\‘= 17v2
@) =5 v, %) 3,

How many maximum possible number of electrons 38.

If the electron is accelerated by 100 volts, than the 39.

A dye absorbs a photon of wavelength A and re- 40.

TEST CODE
2007

el ol =] # 1 # ¥ SIH golag = fadvor § urshetl &

UGS RIgT=d @ 3rdg ol eidl 27

- -
2s 2s

s p S p
T GRATY H (n + () = 8 dTel ifAHH T=7q fovae gelag 4
B el 2?
(1) 30 (2) 32
(3) 15 (4) TOTT TET IR Fhd B

Ifg Seragi= 100 volts A @R fhar S 2 79 594 99!
TR B—

(1) 12.27 A (2) 1.227A

(3) 122.7 A (4) 0.285 A

T XA\ AR BT Y BICH AT HRal & A G-
HHH ol DI ARG A, TAT L, D & BICH S B H I
BRAT S | TR &, &, AT &, G &

1)+ M, _ ) }»_7»1+7&2
(0 +1,) ks
@) »- @
A+ A, A+ A,

Space for rough work
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41.

42.

43.

44,

An excited electron of H-atoms emits photon of 41

wavelength A and returns in the ground state, the
principal quantum number of excited state is given

by:

(1) WR(R-1) @) \/(ug—l:)
1 -

) AR(AR-1) (4) \/(MiR J

The electromagnetic radiation of wavelength 242

nm is just sufficient to ionise the sodium atom.
Calculate the ionisation energy of sodium in
kilo joule per mole -

(1) 4.95 x 10 kJ/mol  (2) 2. x 10° kJ/mol

(3) 1.5 x 102 kJ/mol  (4) 3 x 10* kJ/mol
According to Graham's law at a given temperature,
the ratio of the rates of diffusion r,/rg of gases A
and B is given by -

(1) (Pa/Pg) (Ma/Mg)”  (2) (M,/Mg) (P,/Pp)”

(3) (Pa/Pp) Mp/M,)”  (4) (My/Mp) (Py/Py)”

The temperature at which real gas obey the ideal
gas law over a wide range of pressure is called :
(1) Inversion temperature

(2) Critical temperature

(3) Boyle temperature

(4) Transition temperature

42.

43.

44,

CLASS - XI

ZONE - 11

. BIZSISI URHATY] T Teb I geldg (= A TRIEH Bl Bl
AT HRaT B AT o Sra=eT H Sle 31T ¥ | Al SAfI
3FERT &1 Y FTCH F&T &1 SR

AR
(AR -1)

1 .
() AR(AR-1) (4) \f(M;R J

242 nm 1 faed graa 1 fafep=or Hifsam wA] &1 3mafa
A B forg ata g | Aifsgd @) ome St foretl St ufar
Hret # ST ifori—

(1) JAR(AR - 1)

(2)

(1) 4.95 x 102 kJ/mol  (2) 2. x 10° kJ/mol

(3) 1.5 x 102 kJ/mol  (4) 3 x 10* kJ/mol

ITed & IR0 M & SR A WA R I A J1 B &
faRo1 &1 &R BT 1, /1 © —

(1) (Py/Pg) (My/Mg)”  (2) (M,/My) (P,/Pg)”

(3) (P/Pg) (Mg/M,)"*  (4) (M,/Mg) (Pg/Py)*

g 19 f5T9 IR U IrRaIfa e 199 &1 & IR o1 § 3 et 19
BT T BT 8, Dl B -

(1) SHH a1g

(2) wifa® g

(3) ¥t T

(4) HeHHYT ATd

AR

WE C,
SO

HcLch

SIKAR
N2t

Space for rough work
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45. The root mean square velocity of one mole of a 45. Tdh URHIVAH 14, RNTA®T AleR Sgd M AT a3 Ay Hol
U, o 8119 19 e SHofl (B) @ U, TRER

monoatomic gas having molar mass M is U__ . s,

The relation between the average kinetic energy TR B -
(E) of gas and U__ is -

_ [3E _[2E _ [3E _ [2E

(1) Ur‘m‘s‘ - oM (2) Ur.m‘s‘ - 3M (1) Ur‘m‘s‘ oM (2)Ur‘m.s. - 3M
[2E [ E [2E , E

(3) Uims. = ﬁ (4) Uims. = m 3) Uims. = ﬁ (4) Uims = m

46. As the temperature is raised from 20°C to 40°C, 46. 20°C ¥ 40°C 9 9T 9, ﬁ?ﬁ:rma% ST Sl Bl

the average kinetic energy of neon atoms changed gfRacH foae NGl BT E ?
by a factor of which of the follwing ?
1 313 1 313
1) — 2) \—= 1) = 2) A =—
(1) 5 @) V593 (1) 5 @) V593
313 313
@) 593 (4) 2 ) 293 () 2
47. LII, III are three isotherms respectively at T,, T,, 47. LII, IIl ¥=1: T;, T,, T3WWWWW%,W@W
T,. Temperature will be in order (For constant mole) 2T (Frad Aret & forg) —
s s
I I
1 11
111 111
[9) V— [9) V—
() T=T, =T, (2) T;< Ty <Ty (1) T;=T, =Ty (2) T < Ty <Tsy
(3) T;> Ty > T, (4) T;> T, =T, (3) T;> Ty > T, (4 T>T, =T,

Space for rough work
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48. In figure the volume of container X is doubled the 48. & 3 UM X &1 37Ia= UTF Y & 3McH | A1 & | &1 A

49.

50.

volume of Y. In both same ideal gas is filled. The
temperature of X and Y are respectively 200K and
400 K. If mass of x gas is m, then Y is:

X Y
200K 400K

(1) m/8 (2) m/6

(3) m/4 (4) m/2

Vanderwal constant for gas X and Y are as follows 49.

Gas X:a=6.5, b=0.056
GasY:a=8.0,b=0.011

Find relation between their critical temp.(T¢)
(1) (Te)x > (Te)y

(2) (To)x < (Tely

(3) (Te)x = (Te)y

(4) Data insufficient

An ideal gas of given mass is heated first in a small 50.

vessel (I) and then in large vessel (II). A plot between
p vs T are plotted for (I) and (II). The correct p-T
corves in I and II conditions is -

CLASS - XI

ZONE - 11

T &1 3 G ¥ 2 | X 1 d19 200K G2TY BT a1 400 K

AR X AN DI ST m AT Y A BT —
X Y
@ @
(1) m/8 (2) m/6
(3) m/4 (4) m/2

T X d1 Y & forg afvexdra fFradie e &—

Gas X:a=6.5 b=0.056
GasY:a=8.0,b=0.011

9D HifcTd MY (Te) B AL T ST DI |

(1) (Te)x > (Te)y

(2) (Te)x < (Te)y

(3) (Te)x = (Te)y

(4) SIS Mqafe

fId g @ e neel 9 @1 ugel Ue BI U (I) T
D gTATT U I U (I1) § T fhan Sran 2 1 (1) e (1)
S @ fofT p T T & Hed I S+ Sfran @ | 1 aen 11 Rerforat
p U1 T & AL el I ¢ -

SIKAR
N2t

| |/ | N/
IT IT
p p P P
(1) ) (1) 2)
11 11
1 1
T—> T— T—> T—>
| | A
I I
P p ! P P L
11 1L
(3) (4) 3) (4)
T— T—> T— T—>
Space for rough work
17
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51.

52.

53.

54.

55.

56.

TEST CODE
Tecno'23 2007
Choose the incorrect matching from the following- 51. 7= % & Tetq fAem= @ﬁ'{’ :
(1) chloroplast - thylakoid (1) B8R ot - UEdDISS
(2) mitochondria - Anaerobic Respiration (2) ATSCIDIfdg - swgﬁraaawr
(3) 70 S ribosomes - ribosomes of organelle (3) 70 S WA - IO TgdEH
(4) 60 S ribosomes - eukaryotic ribosome (4) 60 S TZE[H - aﬁﬁﬁﬁiﬁ RECINIE]

Centrioles and centrosomes are present in cells of 52.
(1) Bacteria (2) Cyanobacteria
(4) Animals

(b) Mitochondria
(d) Vacuoles

(f) Microbodies

(3) Higher plants
(@) ER

(c) Golgi body

(e) Lysosomes
(g) Plastids

53.

Endomembrane system includes :
(1) a,c,d, e (2)b,d, f, g
(3)c,d,e, f, g (4)a,c,d, e, f

Nuclear envelope is a derivative of 54.
(1) Microtubules

(2) Rough endoplasmic reticulum

(3) Smooth endoplasmic reticulum

(4) Membrane of Golgi complex

Salivary gland producing maximum amylase S55.
content of saliva is :
(1) Parotid gland

(3) Sublingual gland

(2) Submandibular

(4) Submaxillary gland
Which are the phagocytic cells of liver : 56.
(1) Paneth cells

(3) Kupffer cells

(2) Microglial cells
(4) Dust cells

o 9 & foaa oi¥rer § Afcard iR deram sulera
B g

(1) Sirare (2) -t gRa AT
(3) S=a aiftg urey (4) STgaii #
(@) ER (b) Mitochondria

(c) Golgi body
(e) Lysosomes
(g) Plastids
sia-f3reet a3 # affea g @

(1)a,c,d, e (2)b,d, f, g

(3)c,d,e, f, g 4 a,c,d, e f

B STARY] BT Gd~ o—

(1) e Afctent

(2) GRa¥ 37 yaA! SitfereT

(3) frepeit 37ct Ul STferet

(4) Tifestt Affst &) fereel &1

R U S IR & Ha¥ 31fd TATS ool Tedh bl a1l 8, 8

(d) Vacuoles
(f) Microbodies

(1) wotgd ufeer (2) srafgara

(3) srefrer wifr (4) Irgror afer

TRHT H DRI HETIIHTR DIFRIBTY Tl Sl &

(1) U121 HIRTHTE (2) FIsHIfeTe BB
(3) HFHR DIRTDBIY (4) T DIRTHIY

Space for rough work
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57

58.

5P

WE C,
R
‘

("

SIKAR
N

. Identify A, B, Cand D :

(1) A - Cardiac,

B - Fundus,

C - Pyloric,

D - Duodenum D
(2) A - Fundus,

B - Cardiac,

C - Pyloric,

D - Duodenum
(3) A - Fundus,

B - Cardiac,

C - Duodenum,

D - Pyloric
(4) A - Duodenum,

B - Fundus,

C - Pyloric,

D - Cardiac

The below diagram is a duct system of liver, gall 58.

bladder and pancreas. Write the names of ducts
from A to D -

Ducts
from liver

(1) A - Common bile duct, B — Cystic duct,
C-Pancreatic duct, D-Hepato-pancreatic duct
(2) A - Cystic duct, B — Common bile duct,
C-Pancreatic duct, D-Hepato-pancreatic duct
(3) A — Cystic duct, B — Bile duct,
C-Hepato-pancreatic duct, D-Pancreatic duct
(4) A — Cystic duct, B — Pancreatic duct,
C - Bile duct, D — Hepato-pancreatic duct

CLASS - XI

ZONE - 11

57. A, B, C T D &I Ugaf=y —

(1) A - SToRTH,

B - Hed,

C - SToxf=r I,

D - wigoll D
(2) A - B4,

B - SIoxTH,

C - SToxf=r I,

D - ¥zl
(3) A - B4,

B - SIoxTH,

C - ggil,

D - SfoxfrfH
(4) A - 3rEe,

B - Hed,

C - STexf=r I,

D - STeRIH
A fe a1 o wea, ey e srererg &1 AfefdT o
TIAAD & AfAPRN & M qarsd —

Ducts
from liver

(1) A — &z fust aferer, B — Rilesd wferar,
C—3T=eR AAfTDT, D-IHeHa—F=TeRIT Afeth1
(2) A - faRe® fere1, B — g U Aferat,
C—3T=eR AAfTDT, D-IHeHa—F=TeRIT Afeth1
(3) A - fafRes Afera1, B — fus Afoter,
C—IHII—3FTAN AfTap1, DT Afeteht
(4) A - FaRes Aferd1, B — 3r=merl Aferr,
C - <1 AATTD1, D — TheITI—3ATRIRY AAfeTehT

-
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59. Identify the wrong statement regarding the function 59. Id P BT D GG H TAd HAT BT T DI

60.

of liver:

(1) Production of bile

(2) Convert excess of glucose into glycogen

(3) Conversion of glucose into glycogen is
accompanied with the help of insulin secreted
by hepatic lobes

(4) Converts toxic substances into non-toxic
substances i.e., detoxification

Identify enzymes A, B, C and D in digestion of 60.

carbohydrates
Starch
A
Lactose Malltose Sucrose
]|3 C D
Galactose ~Glucose Fructose

(1) A — Amylase, B - Invertase,

C - Maltase, D - Lactase
(2) A — Amylase, B - Lactase,

C - Maltase, D - Invertase
(3) A — Amylase, B - Maltase,

C - Lactase, D - Invertase
(4) A — Amylase, B - Maltase,

C — Invertase, D - Lactase

(1) o 1 SeUTeH

(2) 3IFARTH DI BT TATG DI H HUTTIR]

(3) T[DIST BT TATS DI H WATRY] Japdl UTferdl g1R1 Grfad
Sgfe @1 AerIa ¥ foban ST & |

(4) fader gerel @t arfadel uerelf # wur=aRd &var 2
arerid faweRo

BIEIBISST @ U= | A, B, C @1 D USIgH! &1 UgdaT=i :

Stalrch
A
Lactose Maltose Sucrose
| I I
B C D
Galactose “Glucose Fructose

(1) A — THISS, B - gmacH,
C — HTeeo, D — e
(2) A — THIZH, B — olacl,
C-H @\_rl, D - %ﬂéﬁr
(3) A — THIZH, B — ATe o,
C- aa%ﬁl, D - %ﬂéﬁr
(4)A_2|353’ B - EéG,
C - 3=, D — e

ARERS

WE C,
o7

{cLch

SIKAR
N

Space for rough work
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61. Which of the following statement is incorrect 61. &3 U fa & deH # fFrafaRad # & &9 91 U 3/ 2?2
regarding given figure ?

(@) (b) (37 (9
(1) Mechanism of figure (a) will cause inspiration (1) = (@) & fepafafdy sfd:vaw &1 dRU 2 |
(2) Mechanism of figure (b) will cause expiration (2) o (@) @ franfafd frvaas &1 dRuT g |
(3) In figure (b) ribs and sternum are raised by inter (3) o (@) & siavuelw Rl uaferdl @ SRIRY &1 HwR
costal muscles JoTeh 2 |
(4) In figure (a) contraction of diaphragm will cause (4) = (31) ¥ dgue @ AgET B SR FEGART AT H
increase in pulmonary volume. qﬁg{ SRR
62. As the temperature of the body increases, the O,- 62. 4 ¥R &I AUAN 31 & <l O,-Hb faae azp fog 3iiR
Hb dissociation curve shift towards- favenfua grar g—
(1) Right side (1) S 3R
(2) Left side (2) 9 3R
(3) No shifting at all (3) ®ET Y faxenfod =i g
(4) No relation with pO, (4) pO, A PIS TFIE L

Space for rough work
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63. The partial pressure of oxygen in alveolar air and 63. ®fUdai e fasifaiigd Th H ifaiIsT B 3fifrd aTd B
deoxygenated blood respectively — BaTeg —
(1) 40 mm Hg, 45 mm Hg (1) 40 mm Hg, 45 mm Hg
(2) 104 mm Hg, 95 mm Hg (2) 104 mm Hg, 95 mm Hg
(3) 159 mm Hg, 104 mm Hg (3) 159 mm Hg, 104 mm Hg
(4) 104 mm Hg, 40 mm Hg (4) 104 mm Hg, 40 mm Hg
64. The figure given below show a small part of human 64. =1 3 # AIa RFREA &1 BIcl IR @ 141 § S8 arg
lung where exchange of gases take place identify BT MTET-YST Il € | 98 A, B, C @1 D &1 Ygar-g—
A, B, C and D.

(1) A-Alveolar cavity, B-RBC, (1) A-uIera g1, B-RBC,
C-Basement substance, D-Blood capillaries C-3neR) ugred, D-Yad dReY

(2) A-Blood capillaries, B-Alveolar cavity, (2) A3 HRIBY, B-HUIHT T8,
C-RBC, D-Basement substance C-RBC, D-3mer) ugret

(3) A-RBC, B-Blood capillaries, (3) A-RBC, B-3ad SIaT,
C-Alveolar cavity, D-Basement substance C-gUiia 1 &1, D-ATERT yaref

(4) A-Alveolar cavity, B-RBC, (4) A-auUIe g1, B-RBC,
C-Blood capillaries, D-Basement substance C-Xqd BRABIV, D-IMTRT ugred

65. Respiratory control centers are located in the......... 65. T T B=....... H Rerd gd g—

(1) midbrain and medulla (1) midbrain T medulla

(2) medulla and pons (2) medulla T pons

(3) pons and midbrain (3) pons T midbrain

(4) upper spinal cord and medulla (4) upper spinal cord T medulla

Space for rough work

22
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66.

67.

68.

69.

Go through the following matches

(i) Functional residual capacity = ERV+IRV + RV
(ii) Expiratory capacity = TV + ERV

(iii) Vital capacity = ERV + TV + IRV

(iv) Total lung capacity = RV + ERV + IRV

Which of these are correct :

(1) (@), (i) & (iii) (2) (i), (iii) & (iv)

(3) (i) & (iii) (4) (ii) & (iii)

A circulatory system, which is formed by capillaries 67.

and ends with capillaries is :

(1) renal

(2) hepatic

(3) double circulatory system

(4) hypophysial portal system

First heart sound is :

(1) Lubb sound at the end of systole.

(2) Lubb sound at begining of ventricular systole
(3) Dup’ sound at the end of systole.

(4) ‘Dup’ sound at begining of ventricular systole.

If due to some injury, the chordae tendinae of the 69.

tricuspid valve of the human heart is partially non-

functional, what will be the immediate effect ?

(1) The flow of blood into the pulmonary artery will
be reduced.

(2) The flow of blood into the aorta will be slowed
down.

(3) The ‘pacemaker’ will stop working.

(4) The blood will tend to flow back into the left
artrium.

66.

68.

CLASS - XI

ZONE - 11

=1 BT e wi—

(i) PratH® a2 &Fer = ERV+IRV + RV

(ii) STEaf¥Hd &9 el = TV + ERV

(iii) Ifd® &1 = ERV + TV + IRV

(iv) qol EFEHT &FdT = RV + ERV + IRV

ST ¥ DI HE 8-

(1) (@), (ii) & (iii) (2) (i), (iii) & (iv)

(3) (i) & (iii) (4) (i) 8 (iii)

I8 uRR¥ERERe I il SRIE16sl -1 T a sfRiemsi w €
HAT &Il &:

(1) gaera

(2) Taxira

(3) qTE¥1 uRE=RT

(4) TRUBRRTIA fFarfes =

T gy eaf &:

(1) ¥%a9 & 3id W 'Lubb' @f

(2) e Tqae & 9IR¥ R 'Lubb' &@f

(3) Y@@ @ 3 WR ‘Dup’ @i

(4) Fre Yagad & 9R¥ IR Dup’ @

g fel e & SR 7199 gad & e daTe B dref
<fret @1iftre wu & iforarefia g1 S a1 39! arcaifard
THTd T ENTT?

(1) BFBARI &1 H I<h BT Y18 HH Bl SR |

(2) 1 H I BT FATE 7S 1 ST |

(3) ‘UAHBR BT HRAT 5 B 7|
(4) 91 3rifere & I g: U¥E warfed B |

AR

HcLch

SIKAR
N2t

Space for rough work
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70. If the vagus branch of frog is stimulated, then the 70.

71.

72.

73.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

heart will show :

(1) Stopage of heartbeat
(2) Decreased heartbeat
(3) Increased heartbeat
(4) No change

The wax gland present in the ear canal is also called 71.

(1) sweat gland

(2) prostate gland

(3) Cowper’s gland

(4) sebaceous gland/ceruminous gland

The middle ear is filled with what :

(1) Air (2) Endolymph

(3) Perilymph (4) Cerebrospinal fluid

Which of the following is correct for lens focussing 73.

while seeing distant object?

(1) Tight suspensory ligament and rounded lens

(2) Contracted ciliary muscles and rounded lens

(3) Relaxed ciliary muscles and tight suspensory
ligaments

(4) Contracted ciliary muscles and relaxed
suspensory ligaments

72.

TEST CODE
2007

afe Fgd o I dFST B E B Ifgud e 9 @
T T S

(1) TSI 7Y BT ©b ST

(2) &I TR BT B &1 ST

(3) &Y WY T 9§ ST

(4) DTS ggeTg el
Huiferet § SufRerd w149 3ifd dgard € |

(1) w< U

(2) Uree afr

(3) BT UfY

(4) RfaRm 4fYr / Risfama afer

Heg BT H AT HRT XA &

(1) arg (2) grSifer®

(3) uRferw (4) ARTHHE 5

R D I B WA TI & D BIGE 8 B oIy T HAT

P T DI ?

(1) T TG §¢ @ o el &1 ot ©

(2) Rafera) URRT e eicil € MR of¥ 71t 81 Sfrell &

(3) faferadt ORrI fifrer 81 Sl € oIk fia=i ¥ g ¢ @
T 8

(4) faferay ufdrt Fafad g oirh 2 iR e =g Rifora
SIS

Space for rough work
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74. Following changes will be observed when a 74. 9@ 3SHg <R TH A’ RIS TR gl A BT Igalue e

75.

stimulus of threshold value is applied on ‘A’ site of
excitable neuron

i A
Stlmuwlusx

e ———
- ~a,

(1) Influx of Na" through voltage gated channels
(2) Efflux of K through voltage gated channels only
(3) Efflux of Na“ through voltage gated channel
(4) Influx of K" through voltage gated channels

Find the incorrect match :

(1) Midbrain - Corpora quadrigemina
(2) Hindbrain - Thalamus

(3) Forebrain - Diencephalon

(4) Brain stem  — Medulla

CLASS - XI

ZONE - 11

ST g | e 4 9 fras siftiRed |+ oRed= aw o 2

FET A
TN e,

S+ AN+ + + + + +

-------

(1)Na* &1 dlecl ICS el ¥ 3T<Iaig
(2) DI dlec o TS o+ H K &1 afgarg
(3) Na" @l diees IS o+l ¥ dfgais

(4) K" &1 diee o ACE o9l 3 JTidie

75. Id GAT BT T N ¢

(1) 7eg Afddss - CARINECIESNIR D]
(2) v aRkaw - DICL

(3) 3r1 AR TH - SIRUAIRIm S
(4) 591 &=H - qgl

Space for rough work
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77.

78.

79.

80.

TEST CODE
Tecno'23 2007
Which of the following is true ? 76. fr=19 9 9 faded B
(1) {2} € {1,2,3} 2) ¢ € {1,2,3} (1) {2} € {1,2,3} () ¢ € {1,2,3}
(3) {1,2} € {1, {2,3}} (4) 0 € {0,1,2} (3) {1,2} € {1, {2,3}} (4) 0 € {0,1,2}
For any two sets A and B, the value of [(A-B) UB| 77. 31 @q=d A 31 B & fofg [(A — B) U B] &1 AH a_1&R 2
is equal to
() AnB (2) AUB () AnB (2)AUB
(3)A-B 4 B-A (3)A-B 4 B-A

IfA={p e N:pisaprimeand

2
_ M +3n+3 for some n € N}, then the number
of elements in the set A, is :
(1)1 2) 2
(3) 3 4) 4
LetU={1,2,3,4,5,6,7,8,9, 10}, A={1, 2, 5},
B=1{6,7},then AN B’is:
(1) B’ (2) A
(3) A’ (4) B
In a certain town 25% families own a phone and
15% own a car, 65% families own neither a phone
nor a car. 2000 families own both a car and a phone.
Consider the following statements in this regard :
1. 10% families own both a car and a phone
2. 35% families own either a car or a phone
3. 40,000 families live in the town
Which of the following statements are correct?
(1) 1 and 2 (2) 1 and 3
(3)2and 3 (4) 1,2 and 3

78.

79.

80.

IfTA = {p e N: p U 34T H&T & T

7n® +3n+3

p= ——— , @B n e N & g, @ Tz A |
3l @l He 8

(1) 1 2) 2

(3) 3 (4) 4

AU ={1,2,3,4,5,6,7,8,9, 10}, A={1, 2, 5,
B=(6,7,ddANBT:

(1) B’ (2) A

3) A’ 4) B

TP B H 25% GRAR BIF qAT 15% YRR G & ToI
65% TRTR HI T HR G 1 el W& 2 T1 2000 IRIAR
HIF AT HTR S & 2 |

9 91 peFl R faaR Sifg —

1. 10% YRR HR T BIF GIA1 Gd &

2. 35% URAR HR IT BIF G &

3. 40,000 TRAR H¥ H ¥&d &

1 9 9 I U 9 ©
(1) 1 and 2 (2) 1 and 3
(3)2and 3 (4) 1,2and 3

Space for rough work
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81.

82.

83.

84.

85.

If 81.

logy(3sinx)-log,(cosx)-log,(1-tanx)-log,(1l+tanx)=1,
then tanx is equal to :

1

(1) -2 2 3

1 1
) 5 “ 5
Find the sum of the root of the equation 82.
cos 4x + 6 = 7cos 2x on the interval [0, 314].
(1) 4950n (2) 4590n
(3) 9450n (4) 9054n

If asecO — ctanb = d and bsec6 = dtan6 = ¢, where 83.

a, b, ¢, d are distinct non-zero real numbers, then
which one is not correct :

2, 42

(1) a% + b? = 2 + b? ) secG:ZdIdbC
ac—bd

(3) tane:bc+ad @ a?+d?=1p2+c?

If sin(sin x + cos x) = cos(cos x — sin x), then the 84.

largest possible value of sin x, is :

1
0 7 @1
2
@ o @ %

If the quadratic equation
x? + (2 — tanB)x — (1 + tan6) = O has two integral
roots, then sum of all possible values of 6 in

85.

CLASS - XI

ZONE - 11

e

log,(3sinx)-logy(cosx)-log,(1-tanx)-log,(1+tanx)=1,
T4 tanx ISR T :

1
(1) -2 2 3
1 1
®) o 4 5
FHIHIT cos 4x + 6 = 7cos 2x & <RI [0, 314] H Hall
BT 1T 1A DY —
(1) 4950n (2) 4590n
(3) 9450n (4) 9054n

Ift asecH — ctand = d TAT bsecd = dtand = ¢, &
a, b, c, d = IR IRAIH T 8, AN DI T Al
TE T —

2, 42

(1) a% + b? = 2 + b? ) secG:ZdIdbC
ac—bd

(3) tane:bc+ad @ a?+d?=1p2+c?

IS sin(sin x + cos x) = cos(cos x — sin x),
T4 sin x BT AfAHTH FHT A & —

1
0 7 @1
2
@ o @ %
e fgemd wHieRor

x? + (2 - tanf)x — (1 + tanB)= 0 & & IS & g, a
3ITRTA (0, 2n) W O & FHT AHI BT AT kn B | k BT A4 S0

SIKAR
N2t

interval (0, 2n) is kn. Find the value of k. PHIFTT —
(1) 4 (2) 16 (1) 4 (2) 16
(3) 64 (4) 128 (3) 64 (4) 128
Space for rough work
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86.

87.

88.

Tecno'23
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Find the number of solutions of the equation
1 + cosx + cos2x + sinx + sin2x + sin3x = 0 which

. .. T o
satisfy the condition b} <|3x - b} =m,
(1) 2 (2) 4
(3) 8 4) 16

The complete set of possible real values of A for
which the equation x2 —(kQ + 1)x - 432 = 0 has roots

whose sum and product both are greater than -1,

is:
o (=55 @l3)
3 ¢ @ Eﬂ

If o, B, y are roots of the cubic 2011 x> +2x?+1=0,
then find (o) + (BY)" + (yo) " :

(1) 2 (2) 4

(3) 6 (4) 8

86.

87.

88.

TEST CODE
2007

FHIHRoT

1 + cosx + cos2x + sinx + sin2x + sin3x = 0 @ &l BI

<7 P EIE B B

e s AR o <
(1) 2 (2) 4

(3) 8 4) 16

A & gof /1 @1 w=a s fog |Hiew

2 (A% + 1)x — 40% = 0 & ¥ & a1 ST AT q21 o1
TEI -1 ARB R :

(=55 el5s)
(3) ¢ 4) Eﬂ
A a, B, y BrE@aHf@ER 2011 %3 + 2x°+ 1 = 0B AL,
ad (oB) !+ (By) " + (yo) ! ST I —

(1) 2 (2) 4
(3) 6 (4) 8

3X—E
2

Space for rough work
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89. If a and B are the roots of the equation x>-6x+12=0 89.

90.

91.

2 (B-6° . b
and the value of (o -2)"" - g —+lisa where
o

a and b are natural numbers then find least value
of (a+b):
(1) 4
(3)16

(2) 8
(4) 64

Let a, B are roots of equation x>-bx=b (b>0)and 90.

|a|, |B| are roots of equation x*+px+q =0. The
minimum value of (p2 — 8q) is equal to :

(1) -6 (2) 4

(3) 0 (4) 4

Let Px) = (m? + 4m + 5) x> —4x + 7, m € R. If 91.

3 <x <5, then find the minimum of minimum value
of P(x) :

CLASS - XI

ZONE - 11

I o JAT B FHH x° — 6x + 12 = 0 & A T | T

8

-6 .

(0L—2)24—(B 8) +1 &1 A a° ¢ W8l a 91 b Ured
o

{8 T4 (a + b) BT FATH A STA BIY—

(1) 4 2) 8

(3)16 (4) 64

AT o, P FHHRT x° — bx = b (b > 0) T |a|, |B|
FHEROT X + px + q = 0D AT | (p> — 8q) BT ~ATH AT
PR T

(1) -6 (2) -4

(3) 0 4) 4

A P(x) = (m?+ 4m + 5) x> —4x + 7, m € R. IR 3 <
x < 5, 99 P(x) & ~gATH A9 &1 gAqH A1 SI1d DITTY —

(1) 2 (2) 4 (1) 2 (2) 4
(3) 6 4) 8 (3) 6 (4) 8
Space for rough work
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92. Find the greatest integral value of c so that both 92.

93.

94.

Tecno'23

TALENT EXPLORING CLC
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the roots of the equation (c — 5)x° —2cx + (c—4) =0
are positive, one root is less than 2 and other root
is lying between 2 and 3.

(1) 13 (2) 17

(3) 23 4) 31

Let g(x) = x? + 2ax + a’ - 9, where a € R. If both
roots of the equation g(x) = O are less than the
largest integral value of x satisfying the inequality

24 - 2x — x* >25—x2

, then find the smallest

14 16
integral value of a.
(1) 4 (2) 16
(3) 64 (4) 256

4x + 5
-1 -

Solve for x : ng6—5x<
1 l>x>1 2 l<x<1
(M 5 @ 5
3 l<x>1 4 l>x<1
3 5 @

93.

94.

TEST CODE
2007

¢ &1 31fHTH YoITer A S BIToTg fords fog aie=or
(c — 5)x* 2cx + (c—4) =0 I JoT gATHAD, TP A 2 |

BT T AN A 2 TA 3 S A H & —
(1) 13 2) 17
(3) 23 (4) 31

AMT g(x) = x* + 2ax + a® - 9, Vgl a € R ¥ | A IR0y
g (x) =0 A qa x & Afywad a9 A rAfH®mT

24 — 2% — x° >25—x2

DI I PRAT 8, ¥ BIC & T4 a

14 16
T AT AT T DITG—
(1) 4 2) 16
(3) 64 (4) 256
x @ forg a1 HIRIY — log, .l R
6 -5x
(1) %>x>1 2) %<x<1
(3) %<x>1 (4) %>x<1

Space for rough work
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20 . 10
x-3)x-4) (x-4)
(1) (»,-2)u(-1,4)
(2) 1,3)u(4,0)
(3) (=0,-2) U (-1,3) U (4,0)
(4) (~,-5) U (-4, )
96. Theequation |[x+1]. [x—-1]| = a’?-2a-3can have 96.
real solutions for 'x', if 'a' lies in the interval :
(1) (oo, ~1] W [3, )

(2) [1-+/5,1++/5]

(3) [1-+5,-1]U[3,1+,/5]
(4) (_OO ’ 1] o [3’ Oo)

The midpoint of the interval in which

x2 —2(V=x )2 _ 3 <0ls satisfied, is :

95. Solve for x : +1>0 95.

97. 97.

-3

- 2) -2
1 -3

6 5 @ 5

CLASS - XI

ZONE - 11

20 . 10
x-3)x-4) (x-4)

x & foTT g SIfoTe — +1>0

(1) (=»,-2)U(-1,4)

(2) (1,3)V (4,)

(3) (~%,-2) U (=1,3) U (4, %)

(4) (-»,=5)u (-4, )

AT |x + 1], |[x— 1| =a?-2a -3 'x & fog
IRAfA® g1 B, T 'a' IRTT H 2—

(1) o , -1] U [3, )

(2) [1-+5,1++5]

3) [1-+5,-1]U[3,1+,/5]
(4) (_Oo ’ 1] o [3’ Oo)] o [37 OO)
3iaRTe 1 e fa=g forersi

2 —2(Jx) —3<0 Ve EME, & -

-3

e 2) -2
1 -3

@) 5 @

Space for rough work
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98. Find the number of ordered pairs (x,y) satisfying 98. |HIGRU & BRI B AT B dlel HAT JHI (x,y) DI
the system of equation T 1 DIfTy—
|x-1|+3y =4,x-|y-1[]=2. |x-1|+3y =4,x-|y-1[]=2.
(1) 4 (2) 3 (1) 4 (2) 3
(3) 2 41 (3) 2 41
99. If the inequality 99. IfE srafAa®T

log,(x* — x - 2) > log, (- x* + 2x + 3) is satisfied by 9 ,
° log,(x* — x - 2) > log, (- x* + 2x + 3), X = BRI
X = 2 in the interval (x;, X,), then find the value of

(X, X,) H T B § T4 (x,X,) DT A S DIFIG —

(xx,) :
(1) 5 (2) 25 (1) 5 (2) 25
(3) 125 (4) 625 (3) 125 4) 625
100.Number of solutions of the equation 100.F9aR0] |x+ 1| + [x+ 2| + |x+ 3| =a® gl & T
|x+ 1]+ |x+2| + |x+3]| =a TE x € [ 4, 4] TUT'a’ TP YA B, B Adell —
where x € [- 4, 4] and 'a’ is a parameter can be:
(1) 2 2) 3 (1) 2 ) 3
(3) 4 4) 5 3) 4 4)5

Space for rough work
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Class - 11th

Paper Code : 2007

PART-A : PHYSICS

PART-B : CHEMISTRY

PART-C : BIOLOGY

PART-D : MATHEMATICS

Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans
1 3 26 4 51 2 76 4
2 2 27 2 52 4 77 2
3 1 28 2 53 1 78 1
4 2 29 2 54 2 79 2
5 1 30 3 55 1 80 3
6 2 31 3 56 3 81 4
7 1 32 1 57 2 82 1
8 4 33 2 58 2 83 B
9 2 34 4 59 3 84 4
10 2 35 2 60 2 85 1
11 2 36 4 61 3 86 1
12 1 37 3 62 1 87 2
13 2 38 2 63 4 88 1
14 2 39 2 64 4 89 3
15 3 40 3 65 2 90 2
16 2 41 2 66 4 921 2
17 1 42 1 67 4 92 3
18 1 43 3 68 2 93 1
19 2 a4 3 69 1 94 2
20 1 45 3 70 2 95 3
21 4 46 3 71 4 96 1
22 1 47 3 72 1 97 1
23 3 48 3 73 3 98 4
24 3 49 2 74 1 99 1
25 2 50 2 75 2 100 2
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